Halving amounts 

Use your understanding from yesterday’s lesson to find half of these amounts. Remember to use partitioning to complete them. 
I have done one for you. 

½ of 28 = 14                   ½ of 46 =            ½ of 52 =  	    ½ of  38 = 	            ½ of 90 =

28 
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Now complete these word problems using your understanding of ½ of amounts. 
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7b. Is Roxy correct?

I had 28 balloons but half of
them burst. Now | have 18
balloons left.

Explain why.
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8b. Using the digit cards, complete the.
statements below.
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9a. Joey has £28. He wants fo buy a ball
that costs half his money. How much does
the ball cost?
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Explain how you know.
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I'am thinking of a number.

Half of my number is more than 10 but
less than 16.

What could my number be?
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3. Daisy has £10 to spend. Which of these items can she afford in the half price sale?
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